Scc*l\ﬂq 512 /D/

HEELy Si R
(‘07 oy X oty f x2bT
a b

e

\f’x [s9,100="2 becavfe 100 = jo°
175/25:3 becucse |25 = s’

-

}973 /!7 B P becace %[ :3

!
log ZO:} éecavsc G 2 7 &

=@ LfchVJf ): X

o, I %) 1679 5 (ijxﬁ‘f -9‘/2{-7!—9



Mot 194
107 X;’ !Qyto >(
In X = l%e X
PFOF?KHU of  log LY pritive
A lt,'>c?
® lgy Mmen = {O?B F loyb‘/\ b%
n /07}3‘3“: 197“% = (’& n
) {%m"‘: A log, v
* l"yb | = O
]00 \ojbb =)
Cautlin - :

Jant oy fuse
. Lo
107% VVW‘H/‘ %%
™ /-

r;,fq wp/K'} fule OJQQ(WU’ Wd’f}(

P



= Ps
//@7(2-}>f )?92 flog$
- %& = S - 1%

log J7 > (o9 7 "2 Vo oy 7

[éy} | =0
l??%F g'[5 = |
b zk@ibyztagmo””“‘
) log 3 2= ©. 477
{346;

log 15 =lps 35l 3 + (L =[T76/
,07 ':’Z,S: [9?(%): {Qﬂ ]5 - {”?2:/1/?6/*0,70/0

i Y 0075/
lo7 gl = (Oj T = log (37 - /?jv':(//sg}: ‘1’(0~L17?I)
1,708
pj;oq75391=&ff+@74:2@;+/wz
og 5 Lo = 2(0:6990) + 0, 3010
2oy 5+ b5 (0 “legqo

:(0*6%70)*/
= (. 6990



{4

142
¢ ;’5
Kt /Z‘

lo
70.
X+ :
K= o ? )
21‘ {oj?5
33




